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And it is only the 3139 who require - TINXRT N7 332

OVERVIEW
The X7mx concluded that there is no real wwn that the vy was written X7w
TMw9, since 1°X°P2 217 and >3 °177 190 ano; the reason why we say 1"92 on
account of 7nwY is because T¥XT X177 71327. The X3 however does not
explain why the 1327 required that the m°%w say 1"952. mpo1n will quote s™"wA
explanation, refute it, and then state his own explanation.
Concerning a v (as well as other mIvw), there is an argument between 27
787 and TY9R °27, what validates the v3; is it the 77°n1 >7v, the witnesses that
sign on the v3, or is it the 77°0n >7¥, the witnesses that observe the handing
over of the vx from the husband to the wife'. n"1 is of the opinion that >7v
N73 AN, and it is necessary to have witnesses sign the 03. Therefore since
the validity of the ©x is based on their signature, we accept only the
testimony as is apparent from the document which they signed. If the
document which they signed is ambiguous, it is not a valid document. X"
who maintains that >n73 77°0n 7Y, does not require that witnesses sign the
document, it is sufficient that they observe the transfer of the document. He
is of the opinion that as long as the 27V can testify and clear up any
ambiguity in the 3, then that is sufficient to render it a valid ©3.

— 1293 2INI NIYNT RIINT QIVN ©90IPa V9
»''"w9 explained; why indeed did the 7127 require saying 1"53, because there

is a possibility that this person who is not 12w% °pa found a written 3, that
he thinks he can use -

— WY 7950 1Y MUY 1Y 2310 THN OUY ANy )3
For instance; the vx was written for another one who lived in the same
city, whose name and wife’s name are the same as the finder’s name and
the finder’s wife’s name and he (the original w11, for whom the vx was

written) decided not to divorce his wife. Therefore he discarded the v3, and this
other person (who is not 7w *p2) happened to find it and sent it with the m°%® to his
wife. The 1121 were concerned? perhaps this is what happened to this ©3 that is coming to

! The xma will discuss this later on 2,3 77 and elsewhere.
* There would be no concern M7 1 even according to n"9, because this is a very rare possibility; it is only
because of the severity of WX nNWX 70K, that the 7127 were concerned about this possibility.
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us from *"7177, therefore they instituted that the 5w say 1932, to remove even this remote
possibility.

mooIN questions this interpretation:

- NP
And it is difficult to understand this interpretation, for if 7"2 is not aware of two
people (and their wives) with identical names (in the city where the 03 was written), then
we are not concerned that perhaps there are two people with identical names®, and there is
no reason to say 1"92. If 7"2 is aware of two such people with identical names then 1"52
will not accomplish anything —

— N Y399 12 WY DI 119WY N9 1PN PYNY 12 DI 2IY PINNNaT
For when it is established that there are two people named wnw 32 noM
(i.e. two married couples who have identical names) in one city, even if it

was written 1w, it is 9105 for 1w according to »'' -
- VPN NN I YW KD AP NN 1A YD AN (3,75 1mp%) VIN DI ¥ 19999NRTS

As we say in a mwn in the beginning of ©37 %2 19 in a case where a person
had two wives with identical names, if he wrote a v) with the intent of
divorcing the older wife, and subsequently changed his mind before giving
her the v3, he should not divorce the younger wife with this v3, because it was
not written 72w> for the younger wife.

— VI N9 NN YN O8N RDT NIN NIVH NI 9N
And the NXo»3 comments and infers from the mwn, which limits the
prohibition of using this vx (only) to the younger wife; ‘he cannot divorce
the younger wife with this ws. The mwn explicitly states: nX 12 W K9
11pa, from which we may infer but he may divorce the older wife with
this wx. The difficulty with using this 3 even with the intended older wife, is, that when

we read this 3 we do not know who is the intended recipient; the older or the younger
wife, since they have the same names. In order to resolve this difficulty —

— TYIN 2395 Y IPM

We establish that this 73wn is following the view of =1¥%X ', who maintains
that >n72 777071 *7v. The witnesses that validate a ©3 are (not the witnesses that sign on the
v3, but rather) those that actually witness the giving of the 03 from the husband to the
wife. These witnesses definitely know and can testify who is being divorced, for they see
the handing over of the 03 from the husband to the wife. However that 71wn —

- NN 299 N

? See X1 KA.
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cannot follow the ruling of %', who maintains >n15 °nn >7y, that (only) the
witnesses that sign on the v3, they validate the v3. The reason why that 71wn cannot follow
the ruling of n"9, is because since *n72 7N 7Y, therefore —

— YN 1D 2D NNIHN XTY TINN NN RIPY 1)PyaT
It is required that it be apparent from the document which the insnn >7p

signed which of the two he is divorcing®. Their signed testimony does not
enlighten us in this regard, for we do not know, by looking at the document they signed,
which of the two wives they are referring to, since their names are identical.

We derive from this that according to »"9 it must be apparent from the v3, whom we are
divorcing. Therefore if there are two people in a city that they and their wives
respectively, have identical names, then neither can divorce their own wife. Therefore we
cannot explain our 71wn, according to »". For if it was not w"2> *1w P17, then we are not
wwin, and if it was w"2> "1w pimA, then saying 1"91 is meaningless because according to
n", he cannot divorce his wife’.

Seemingly this question of N®OIN can be answered, that this 71wn does not follow the
opinion of »"1, but rather of X"9, as the X713 says concerning the abovementioned 73wn in
v 22, MoIN responds and concludes his question on >"w7 —

— ON1 5295 PNIND MIPINY S¥a 7102
And shortly® the X3 wants to establish that our 73w follows the opinion

of »'.) How can the Xxm3 suggest that the 7wn follows the ruling of »"3, when
according to n"9, there is no point in saying 1"93, according to 7127. Either it was not P73
w"2 21w, then there is no wwn of 7wH Xow, or if W"2 "3 prmi, then indeed they cannot
divorce their wives and 1"92 will certainly not accomplish anything.

mooIn is not yet satisfied with his refutation of >"wA, for we can say that our 71wn is
following the opinion to &"9 who maintains that *n72 77°07 *7¥, and as to the fact that the
X3 wanted to establish our mwn according to »"9, in truth the X773 could have refuted
this suggestion, in the manner that m»oI1n proposed, however the X723 found a different
method of refuting this suggestion which was more pertinent to the issue being discussed
there. Therefore mdo1n concludes —

— 9TYIN 22495 129N)
and even if you will establish the 71w»n according to R''9, who maintains >y

* It would seem from mdoN that even if the 7°ni *7v are present and are testifying that it is this woman
who is being divorced; that it would not be valid. For since n"7 is of the opinion that *n73 7n°nn >7y, it is
required that the testimony of their nn°nr dictate the status of the divorce, and this cannot be accomplished
since both wives have identical names.

> The only way to divorce in such a situation is to have a unique identification of the parties involved; by
writing their grandparents name, for instance or something similar. Then again however there will be no
concern of someone else using this va.

69,3 77.

7 Concerning the same ruling of *n3 7n°nn >73.
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N1 77°0n, as in the case of the other 7awn in w7 90 P19, where he may use the v to
divorce the intended wife; nevertheless in our case it would not be a valid 03, because —

— NI YOV HYaN INUYY WY 197010 2Ty P9
We require that there be 779°0% >7» who know that the husband made a
mw to deliver the v, and there are no 7°on 7y that can testify that the husband
of this wife actually made this individual for a m>5w.
In the case of 791737 NX 12 WY and, where the husband and wife are both before us, and
the 77°0on »7v see the husband giving the vi to the (older) wife, then we have proper ¥
77°0n that know the man and the woman and the Pw1°a3n nwyn. Here when a mbw brings a
v that states that w"2° is divorcing his wife (if it was w"2° *1@ p1m7), the 77701 *7v do not
know which w"2> it is®. Therefore it cannot be a valid Pw1s. NI therefore rejects
s""wM interpretation why the 1327 required the % to say 1"92 on account of 7nwb.

mooIn will now offer his interpretation as to the meaning of T17¥XT X7 7127:
— Hyan ¥y NOY 2759391 NI 1929 TIENT RNT PHYY 13929 99IN)
And the >''1 says; the reason the 3339 required here the saying of 1"92 it is
in order that the husband should not contest’ the vs -
— 7R9NNY 215 99101 1aNIY 9NN

saying that the 2910 wrote this v for practice, and he wrote this couple’s name
on the vi. The husband did not instruct the 7910 to write the v3, thereby rendering this v3
WY Xow. The 1910 then discarded this v3 and the husband found it -

11IVYY YDA 19N RY NINY DY 1YY DINNND NN
And then the husband found witnesses to sign this v3, and it is totally 7nw? Xow,

for he (the husband) is not p2 in the requirement of %W, therefore he did not
realize that a (found) va that was written for practice is invalid'’.

Therefore the 1327 require that the %W testify 1"521 1"52 that it was done 7nw? and the
husband will not be able to claim that he found this vx already written.

SUMMARY
According to >"w1 the reason the 7127 require saying 1"93, is because we are
concerned that an individual who is not 7»w? *p23, may find a vx that was

¥ In a regular case when it is not w"2* *X pimA, then the fact that the m*>w is bringing a (signed) vx and states
that the husband sent him, he is believed, and the 717°0n *7¥ can testify that "2 was w3 his wife through
this mow. However if it is w"2> *1w 1, then the 77°07 *7v do not know which w"22 is being W (2"n By
q"w).
? We are not concerned that the following happened (for it is extremely rare), rather we are concerned that
the %¥a will claim that it happened; as opposed to s""w" interpretation that we are actually concerned that
the wwn may happen. See 11271 7"7 >"w1. See ‘Thinking it over’ # 2
' See “Thinking it over’ # 3
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written (and signed) for another person who has the same name(s) as the
finder and his wife have, and he will use it to divorce his wife.

MBoIN rejects this interpretation; for this concern of two w"2” is only when it
1s "2 71w P, and in that case, the 17 is according to n"9 that they cannot
divorce their (own) wives, since it is not 197 from the v who is divorcing
whom. Even according to X"7 who maintains that they can divorce their
wives, however in our case where the husband is not present, the 77°0n ¥
cannot testify as to whom the husband is, and therefore it will not be a valid
vi. There is no purpose therefore in this 73pn of saying 1"92.

MBoIN opinion is that we are concerned that the husband will claim that he is
not 7mw? °pa, and he found a v that the 790 wrote for practice and
‘happened’ to write this husband’s, etc. name on it'', and subsequently the
husband had witnesses sign this v3. Now he became aware of his ‘mistake’
and therefore he is contesting this vi. To avoid such incidents, the 23m
instituted that the m°%Ww say 1"93, to insure that no one claims ‘I happened to
find a v¥.

THINKING IT OVER
1. What are the similarities and differences between the scenarios of >"'wn
and NBOIN concerning TIXXT X177 1127

2. Why does maoin say that we are concerned that the 5va will claim etc.;'"
why cannot M»do0IN say that we are concerned that he actually found a va
Taonas etc.?'”

3. Why did not moon say'* that we are concerned that the husband will
claim that both he and the one who wrote the v were TP PXPa PR?

"' There were no two "2’
12 See footnote # 9.

13 See 2py> nxon.

' See footnote # 10.

"% See "X # 199.
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